[ number of missing inner layers | [ number of missing outer layers |

Entries 369 1 Entries 369
Mean 0.00542 E : : : : + | Mean 0.1192
Std Dev 0.07342 r N N N : : Std Dev 0.3241
H H H | _ N . . . . H H H |
Entries 369 10 1§_' AR AR Frorrrertr TEntries 369
Mean 0.00542 F : : : : : Mean 0.1192
0.07342 L H H H : |std Dev 0.3241
] ] IR R S S SO SO S
369 10 E : : : i [Entries 369
0.00542 Eo . . . + | Mean 0.1192
0.07342 r N N N N N Std Dev 0.3241
e e e R T S S SHE B8 O O I e ey

Entries o : : : : : Entries

o . . . . . Mean
a : : : . |Std Dev 0.3241
: Entries F : : : : : Entries 369
: : 1 [ Mean L : : : 1 [ Mean 0.1192
. 5_ 5_ E, Std Dev 0.07342 10—5 =____E _____ : _________ 5_____5_____;,__ Std Dev 0.3241
F : Entries 369 F Entries 369
I : : : : Mean 0.00542 I : Mean 0.1192
M TETE FETT F FE EY I W POy o) FRETE FERTE FERT] FITEE FRUEL PRTRY PF 99 FEVTL PETRE PNy |
+ . . . . o 4 o1003F * ’ . . tH Bhdd

T F S
o B 5 1 N H H H H H
i g Ll Dl D e e
0.95

0 05 1 15 2 25 3 35 4 45 5

Vet

111

i

— g — y—— \— — T ..7. Entries 369
1) : : : : : : | Mean 5.106
B © | Std Dev 1.19
N tifrii:
Q ______ Entries 369
< Mean 5.117
v Std Dev 1.185
e T
Entrigs 369
""" Mea| 5.119
+ Std Qev 1.186
Entries 369
...... o lean 5.117
td Dev 1.185
______ H H H |
Entries B69
Mean 5417
Std Dev 1485
T T U]
Entries 369
: : : : : -] Mean 5.117
o;\.C""I""I""I""I""I"" hadumagle e Luiagd
= I H H H H H H
@ N H H H H H H
o L : : : : :
| EEEEEE Fomememedenanaee R == ——-
[ . H . . [ H N —
0.95L : : i : 0.955 il
=3 -2 -1 0 1 0V 1 2 3 4 5

6 7 8 9 10
track hits

[ N of simulated tracks vs pT | [Nofreco track vs pT |

10_1 - - Entries 2 Entries 375
Mean 0 -1
Std Dev 0 10 E
: I E
Entries 2 -
Mean 0 2
Std Dev 0 10 E Std Dev
H | F H
Entries 2 L Entries 375
Mean 0 -3 Mean 157.3
Std Dev 0 10 E Std Dev 242.6
B | o B
Entries 2 r Entries
Mean 0 _4 Mean
Std Dev 0 107°F Std Dev
H | F H
Entries 2 B Entries
Mean 0 _5 B Mean
Std Dev 0 107°F Std Dev
Entries 2 F Entries 375
Mean 0 B Mean 157
o I ol0cdk O |
T = 3 :
H © o [ %
: [0 | R 3
H [| SEEPPPPPPRES
H oL

[any
o
N
=
o
w
[
o
iR
= F-e-
=
o




	Contents
	Page 1


